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/ Times Table Multiplication
Wheels




7/ Times Table Multiplication

Wheels
1 4,
56 42
77 /N5 21 /N2
YU 130 7
4 70NC4 |5 84
34
2 28 > 77
A\ 70 70 /\
{7 11 7 DS
14\ /e c 63
49 56
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Ultimate Times Table Challenge

Name: Number Correct:
Time Taken: Previous Score:

Tx1= 11x12= 10x12= 3x5= Ix9= 7x1=
1x5= 1x2= Ix 5= 4x1= 2 x8= 4x5=
3x1= 3x3= 9x12= 3x7= 6x1= 3x11=
1x4= 4x3= 1x3= 11x7= 4x9= Ix9=
brx 1= 8x9= 5x8= Bxl2= 2x7= 5x11=
10x3= 6x3= 1x11= 2x11= T1x11= 1x7 =
5%3= AQx7= I xh= 7x7= 7x9= 10x5=
8x1= 10x1= 5x7= bx5= 3x8= 8x11=
Ax1= 9x3= 3x10= qx9= 4x7= 8x7=
11x9= 6x8= 6x11= 10x7= 10x9= 10x11=
11x1= 11g3= 11x5= 2% 3= 4x11= 8x5=
12x5= 12x12= S5x4= 1257= 12x9= 12x11=
2x1= 8x3= bx7 = 1x12= 1x10= I%x3=
2%x2= 9x11= 2xb= 2x8= 2x12= Txb=
11x4= 3x4= SR 12x2= 2x4= 1x6=
4x2= 4x4= 4xb= 6x9= 4x10= Ax5=
5x2= 10x2= 12x1= 5x8= 3xb= 7x11=
7x4= bx4= bxb= 12x3= bx2= 8x4=
7x2= Ax2= 2x10= 5x10= 1x8= S5xb=
7x8= 6x10= 12x%10= 12x4= 8x10= 8x2=
10x4= Ax4= 3x12= Ax8= 12x8= 8xb=
11x6= Ax6= 10x6= 3x2= 4x12= 9x10=
11x2= 6x12= bxl2= 11x8= 11x10= 8x8=
7x12= 10x10= 12x6= 7x10= 4x8= 10x8=
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English
Level Three

Task Ten
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() Vocabulary Remember, ‘nice’ is a very over-used word and you can usually find a

Over-used words  better word to use instead.
- ‘nice’
| Copy the paragraph below, replacing each ‘nice’ with another

Sometimes it is word. You can choose words from the box below, or think of some

better to simply of your own.

[t was a nice day. It was nice tosee the sun shining. | put on my
_Mc_eanws.MwandeCUwphmzdwpmdm/&duA
fora nice barbeque. He said he had made some nice kebabs. | was
excited about going to Uncle Clinve’s nice house, seeing my nice
cmwnl_mam,dplagmgmfthlrwmmdog

éwmgwdwwwﬁuwﬁmmubww

leave out the
word ‘nice’.

il 1 Copy each phrase below, replacing ‘nice’ with a better word.
a nice letter b nice holiday C nice jumper

2 Use each answer from question 1 in a sentence of your own.

Many words end with the vowel ‘e’ but very few end with the other fc

‘1"[7

vowels — ‘@, and ‘u. Those that do are usually words that have

7
o

o

=4
@9

Plurals — words
ending with ‘o

come from forelgn languages. For example:
data fungi tornado Peru plateau

BETEED AT

There are special rules for making plurals of words that end with ‘o’
Usually, we add ‘es’. For example:
tomato tomatoes tornado  tornadoes
But we simply add ‘s’ for:
e words ending in ‘00’ For example:

EAME.

cuckoo  cuckoos
e ‘music’ words. For example:
piano pianos
e abbreviations (shortened words). For example:
photo  photos (‘photo’ is an abbreviation of ‘photograph’)

b unit

Disasters 1




| Write the plural of each word.

1 hero 2 soprano 3 volcano
5 disco 6 motto 7 hippo
9 cello 10 cockatoo 11 radio

| Use a dictionary or other reference books to find out as much
as you can about each word below. For example, where did it
first come from, is it short for a longer word, etc.?

1 rhino 2 piano 3 cuckoo 4 photo 5 patio

@ Grammar Remember, if there are two negative words in one sentence they can
F often cancel each other out, and the meaning then becomes positive.
This is called a double negative. For example:

| couldn’t do nothing to stop my umbrella blowing away.
‘Couldn’t do nothing’ means the same as ‘could do something’!

Double negatives

m Copy these sentences, filling each gap with ‘anything’ or ‘nothing’
1 They couldntsee  because it was dark.
2 Therewas ___ |could doaboutit.
3 Theywouldntdo to help me.
4 lcan'tgiveyou as | haven't any spare cash.

Make each of these positive sentences into a negative sentence.
1 Thzmawwviww*eonthzscmzqwidwj.

2 /couidmsonwbodgcaﬂ,mgﬁrhd,p
3 | wuas very frightened.




